Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER — 4 (NEW) - EXAMINATION - Summer-2024

Subject Code: 4340601
Subject Name: Advanced Surveying

Time: 02:30 PM TO 05:00 PM

Instructions:
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Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.
English version is authentic.

(@) Explain the principle of tacheometry.

() ASIQAHIY ol [Merid Yuesdl.
(b) Define anallatic lens and give advantages and disadvantages of its.

(W) Aat1A2ls Y cAuALRIA 520 W detl SIUEIAL el AR-§LALI] (U],
(c) Find out R.L of station A & B from the following observation in tachometric Surveying,
Take the R.L of P 30 m, and value of tacheometric constant as 100 and O.

Date: 11-06-2024

Total Marks: 70

Sr Inst Staff H.I. Vertical Staff reading

no | station | Station Angle

1 P A 1.45 +8°40° 0.80, 0.90, 1.00
2 P B 1.45 +3020° 1.45, 2.45, 3.45

(5)  uddrslel Hiuel ddetel Hi 1A Yool o1 dlaal uddlsell uell elist A & B il
Ul G1ULE L P of RL. 30 Hl. e 2{dR51QIMIUA A{Y[S Y00 A o €],

(c) Find out R.L of station A, B & C from the following observation in tachometric
Surveying, Take the R.L of B.M 100 m.

Sr | Inst Staff H.1. Vertical Staff reading

no | station | Station Angle

1 P A 1.45 +8°40° 0.80, 0.90, 1.00

2 P B 1.45 +3020° 1.45, 2.45, 3.45
OR

Sr Inst H.1. Staff Vertical Staff reading
no | station Station Angle

1 A 1.45 BM 0°0’0” 1.31,1.96,2.61
2 A 1.45 B 4°15° 1.46,1.96,2.46
3 B 1.46 C 8° 30’ 0.83,1.43,2.03

(5)  did SlQ HIust udetl Hi «{1 Yosod ofl dlaal wdelsel] uRell elst A, B & C «il

Al0el GIULE 2N B.M. of R.L. 900 Hl. ).

Sr Inst H.I. Staff Vertical Staff reading
no | station Station Angle

1 A 1.45 BM 0°0°0” 1.31,1.96,2.61
2 A 1.45 B 4015’ 1.46,1.96,2.46
3 B 1.46 C 8° 30’ 0.83,1.43,2.03
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Show the following components of a simple circular curve with sketch and define. (1) Long
Chord (2) Deflection angle (3) Mid ordinate

ULS5(d UL U ANNUSR dAniseil o{[Aell el2s) Wdldl W AR 5.

@) €lel 2l () [Audel S1QL (3) Hed UM

Explain the types of circular Curve.

ANALSIR disell UsIR] Ml

Calculate the co-ordinate of the simple circular curve having long chord 150 m and mid
ordinate 8m. Ordinates are measured from long chord at 10 m interval.

U ddLsIR dsell AL ofl A1d7] 521 BHL €lel 2l 150 m WA HEAH UM 8m B .

A A €16l Rl U 10 Hleetl id HiucHi 241 8.
OR
Discuss various types of curve.

CICERERETREGIERENE

Explain the Requirements of Transition curve.

UsHYL dU1isefl e RULAL YH2dl.

The tangents intersect at a chainage of 1520.50 m. the deflection being 60°. Calculate the
following quantities for setting out a curve of radius 500 m.

a) Tangent length b) Length of the long chord
¢) Length of the curve d) Chainage of the point of curve and the point of tangency.

1520.50 H122+{l ui501 U2 ldl wWels), 60° ([Quldd ale 8. 500 Hlez [EHorll dlnl
dsal A2 sdl HIR «flAefl 21913l 2.

a) Wels e b) €1l 2dls{lduiles

c) dseil duiLe d) URH [tigsfl visuis wa Soudl (oigedl Aisnis

Write function of microprocessor with memory unit.

) Y(ele A1 HIBSIUAUe] 51 qui).

Explain measurements of angles using total station.

2124 22letell GUULIL 53] Lyt HIU HH2dl.

Explain total station setup in the field.

AU 2led wR2leteil dNedsil AHed).

OR
Explain the types of total station.

2led w2lelell UsIR Auextdl.
Write the precautions to be taken while using total station.
2l2d w2lelell GUALIL 5l duld Qdid] Uladdlx] qud).
Write the advantages and disadvantages of Total Station.
2l2d R2letell §1UEL WA A§IAUEL QU
Explain the DGPS.
DGPS U1l
Explain the components of GIS.
GISeil G191l ¥Hall.
Give the applications of GPS.
GPSeil GUILL A 1ul,
OR
Explain the Global Positioning system.
selodd Ul(seLleial (e yuexdl.
Enlist modern surveying equipments with their uses.
1y (o5 Al Aldellad duell GUALL A18 YRlode 52,
Explain the GPS measuring techniques.

GPS HIUdlefl dsefls) dHendl.
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Give difference between GPS and DGPS.
GPS ¥l DGPS A dsldd 5.
Explain the segments of GPS.

GPSell ®19LL yuxldl.
In a tangential tacheometry, following observation were taken With staff held staff
held on B. Calculate R.L of B and horizontal distance AB.

Inst Staff Vertical Staff reading Remarks

station | Station | Angle

A B +3°15 2.50 R.L. of Inst. Axis 55.55 m
B +5°30° 3.90

A58 HIYetefl sl Adul, BUR 218 ULl 1A Yool el viadlsell dlaal,
B oil UlUet GIULE el AB o vidR 211l

Inst Staff Vertical Staff reading Remarks
station | Station | Angle
A B +3°15° 2.50 R.L. of Inst. Axis 55.55 m
B +5°30° 3.90
OR

Give application of Drone (UAV) surveying.

et (UAV) Ul GUALBIAIA] 1),

Explain field procedure in Drone (UAV) surveying.

Slet (UAV) AU &t ulsal uuestdl.

A staff held vertically at 50 m and 100m from the center of the theodolite with a
stadia hair, the staff intercept is 0.500 and 1.000 respectively. Calculate the
tachemetric constant (k and c). The instrument was set up at a station P of RL
1950.95 and the total height of instrument was 1.5m. The hair reading on a staff held
vertically at station Q were 2.050, 2.900 and 3.750 with the line of sight is horizontal.
Calculate the horizontal distance of PQ and RL of Q pint.

As wls Ged Ild (RSl estl Jogell 50 Hle wa 100 Hle U R[Sl dR
U1 AW wId B, 215 2idRUd Wais 0.500 o 1.000 8, WdRS1QHIUsA
YOS (k el ¢) =l ABIAT] 520 211 BUSWAA 2t P %<} RL 1950.95 m &¢
dell UR @ $AIMi 41d6 & 2ol GUSWAeAl 56 QLULY 1.5 Hlerell edl .Q
UR (llder £¥] 3wl A18 Ged A AvidIMi w16 21s URell dlRe] didel 2.050,
2.900 A9 3.750 &q, .PQ f &(d% widR wal Q [Gigeli RL «{l A3 5.
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